(ERON 77
SELF-ALIGNING SCREWS 7110DH No.E-730 3 /7]/
7 — — A\ A\ == =
72AZVImILN/110DH B8
25
EZIED SCM435 BEAHRC30 £ 5 e
EEEE 225 [ /=5 Dav=pat SR UL
@A INICH EFTHITI—IDTNIDNTY, |7‘ |7‘
11
1 1
00
R e
g o] /
F (&) | | - A
el f
E G4:D) |
L|—|—~1—-f
A 7
e et
Z+—5'—No. No. AQLEE) B C D E F BEg A&
19460 |7110DH-M 8 M 8%X1.25 11.6 25 5.5 13 13 25 8,040
19461 7110DH-M10 M10%x1.5 15.7 30 8.6 17 17 55 10,300
19462 |7110DH-M12 M12%x1.75 15.7 35 8.6 19 17 55 10,300
19463 |7110DH-M16| M16X2 207 © 40 105 = 24 24 . 115 14,400

RoHS3 (ERON)’

754 Z7IL7110DI

SCM435 BEA HRC30 + 5
B 24 BEED < srub 1B

OFTHIFTSVNTIHBILTHIFE T, TYVNAR
R—)VE&/NA R
@D o) =R A
-3 @ / %3l
T == T A N e
| ] v -
E D)
A
L Ln s Rl Fa
#—5—No. No. AGLEE) B c D E F By i)
19464 | 7110DI-M 8 | M 8x1.25 = 116 25 5.5 13 13 25 5,980
19465 | 7110DI-M10 | M10X1.5 157 30 8.6 17 17 55 8,040
19466 | 7110DFM12 | M12x1.75 157 35 8.6 19 17 55 8,040
19467 | 7110DI-M16 | M16x2 © 207 40 105 @ 24 24 115 11,400

M—LR—=IT CAD T—9IDI U YO—REEERAN TEET,



	F214J_0449

